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a) 6x — (3x2 —(~2x% 4 (4x2 —6) = 3) — 5x) a) —a?x (—b)3 =
b) a x (a?)3 x (a3)? =
Q) (a2h3)* =
b) (2pg —3p*)(p +29) — (4> —2pq)(2p — q)
- d) (xy)*(=x?2)(—y)* =
e) ab3(a*—5b%) =
f) (=3a?b)3 x (—2ab3)? =
A=x2-3B=1-2x%,andC = x> —x + 1 DEE, R
DWW =EFTBEE LK.
a) C—(B+34) MOZLTEREL. BBEL.

a) (Bx +4y)? =

b) Bx—-4)(7x—-1) =
o) Gx+y)x+5y) =
b) A—(B—(C — A))

d) (x2+5x—-2)(x +2) =

e) (x?—3xy—y?)(2x—3y) =




f) (a—b—-c)?=

g) (a% +ab + b?)(a® —ab + b?)

h) (a + b+ c)(@? + b%> 4+ ¢? — bc — ca — ab)
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a) (a+b)a?—ab+b?) =a®+ b3

b) (a —b)(a? +ab + b?) = a® — b3

o) (x+y)?—(x—y)?=4xy




